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kNN (k-nearest neighbor ) j%
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import sklearn.datasets as datasets
iris = datasets.load _iris()
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print(iris.feature_names)
print(iris.target_names)
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['sepal length™ (cm)', 'sepal width*? (cm)', 'petal length™ (cm)', 'petal width™ (cm)']
['setosa’ 'versicolor' 'virginica']
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In [1]: import sklearn.datasets as datasets
iris = datasets.load iris()

petal width

i S5~
(fEF-DIE) [cm] | (setosa/versicolor/virginica)

In [3]: print(iris.feature names)
print(iris.target_names)

[ "sepal length (cm)®, “sepal width (cm)’, "petal length (cm)’, “petal width (cm)’]

['setoza’ "wersicolor’ “wirginica' ]

In [4]: iris.data _géﬁ_ﬁ

Out[4]: array([[5.1, 3.5, 1.4, 0.2],
(4.9, 3., 1.4, 0.2], In [4]: 1iris.target
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In [8): FETIHNRT—2¢ETRIT—2&F5074 \
from sklearn.model_selection import train_test_spli \ '
X_train, X_test, y_train, y_test = train test split{iris.datd, firis.target], [test_size=0, 3 random_state=0,
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from sklearn.neighbors import KNeighborsClassifier
knn = KNeighborsClassifier(n_neighbors=1) kNN ixh':ﬁm
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knn.fit(X train, y _train)

RTFRRT—=ZDFN
y_pred = knn.predict(X_test)
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import numpy as np
print(np.mean(y_pred == y test))

X: AREEFHE) XIZ. NI LBHDTRIF
y: BERE(TYVADIELE) ylE. 18BN TINXE

train: EfET—%4
test : TAMNT—4
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]Ifﬁﬁﬂ [21020261112111101100210026001102106022106

111260260 80] :
import numpy as np .
0.97777777777777 77— . <
EfEE-> print(np.mean(y_pred ==y _test)) EfREOFEYIE



